& ™ol A sin B, cos B, tan B &) gt& A2 = F-shejet,

. cosB= —

>
>
>
> &Y sinB= =
>
>

Heh: tanB = <

BC =17 °]1 AB 7} ¥H¥o|B2 &
. 15 8 15
. sinB = 1—7, cos B = 1—7, tan B = g




2. OF I™8A sinx, cosx, tanx o] gF= 2|2 ofoizh

. sinx =

0
o

. cosx =

v V. Vv v v VY
0x
i

0
n

= . tanx =

Ll b Ot Ol

sinx = —




D)123 @ 11V3
@ 193 ® 183

® 10V3

. AB
tan60 —E—\/g

AB =123




4.

Al

Os 3w A

fllo

JE2AQ,

flo

@ sin0° = cos0° = tan0°

© sin45° = cos45° = tan 45°
© sin90° = cos 90° = tan 90°
® sin90° = cos 0° = tan 45°

@ sin0° = cos 90° = tan 90°

=
[=

3
>EE: ©

B )

sin0° =tan0° =0, cos0° =1

2
Sin 45° = cos 45° = - tan45° =

sin90° =1, cos90° =0
tan 90° ©] 22 A% 4= gt




5.

& AZHH| 9] HE H 1l ginx = 0.6691 & o, x 9] 322

2t | AFQl(sin) | EAFRl(cos) | EtMIE(tan)
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z sin = cos T tan z

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1.0000

46° 0.7193 0.6947 1.0355

47° 0.7314 0.6821 1.0724
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